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General Instructions :
The question paper comprises of two sections, A and B you are to attempt both the sections.
All questions are compulsory.
There is no overall choice. However, internal choice has been provided in all the three questions
of five marks category. Only one option in such question is to be attempted.
All questions to section A and all questions of section B are to be attempted separately.
Question numbers 1 to 4 in section A are one mark questions 6. These are to be answered in
one word or one sentence.
Question numbers 5 to 13 are two mark questions, to be answered in about 30 words.
Question numbers 14 to 22 are three mark questions, to be answered in about 50 words.
Question numbers 23 to 25 are five mark questions, to be answered in about 70 words.
Question numbers 26 to 41 in section B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to choose one most appropriate response
out of the four provided to you.

10. An additional 15 minutes time has been allotted to read this question paper only.
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SECTION - A

State the reason of introducing Italian bee variety in bee farms.

“The wool being knitted into a sweater is a physical change.” Justify the statement.
State the meaning of uniform circular motion.

What is meant by free fall ?

What is meant by the term ‘green manure’ ? State its role in agriculture.

A cyclist travels a distance of 4 km from P to Q and then moves a distance of 3 km at
right angle to PQ. Find his resultant displacement graphically.

State two functions of Vacuoles in a plant cell.

What would happen if a fielder stops the fast moving ball suddenly ? Justify your
answer.

The concentration of a salt solution in terms of mass by mass percentage is 20% and the
mass of the solution is 550 g. Determine the mass of solute present in the solution.

A stone is dropped from the roof of a building. It takes 4s, to reach the ground. Find
the height of the building. (g=9.8 m/s?)

List two characteristics of cork cells which help them to function as protective tissue ?

A bus decreases its speed from 80 km/h to 50 km/h in 4s. Find the acceleration of the
bus.

Compare in tabular form the properties of a true solution and colloids with respect to
Tyndall effect and stability.

What can you conclude about the motion of a body depicted by the velocity- time
graphs (i), (ii) and (iii) given below :
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What is composite fish culture system ? State one merit and one demerit of such a
system.

(a) Why do we jerk wet clothes before spreading them on clothes line ?
(b)  The fruits fall off the branches when a strong wind blows. Give reason.

A gas jar containing air is placed upside down on a gas jar of bromine vapour. It is
observed that after some time, the gas jar containing air also becomes completely reddish
brown.

(a) Explain why this happens.
(b) Name the process involved.

When do we use the process of centrifugation ? State the principle involved in this
process ? List its any two applications in our daily life.

What is manure ? How is it prepared ? State its role in changing the quality of soil of
a field having excess of :

(i) Sand (i) Clay

A ball thrown vertically upwards rises to a height of 20 m. Calculate :
(i)  the velocity with which the ball is thrown upwards and
(ii)  the time taken by the ball to reach the highest point. (g=10 m/s?)

Make a table to show the difference between Striated, Unstriated and Cardiac Muscles
on the basis of their structure and location in the body.

What happens to the Gravitational force between two objects if :
(a) the mass of one object is doubled.

(b)  the distance between the objects is doubled.

(c) the masses of both the objects are doubled.

Give reason in each case.

(a) State Newton’s 15t and 3" law of motion.

(b) A car of mass 1800 kg moving with a speed of 10 m/s is brought to rest after a
covering a distance of 50m. Calculate the force acting on the car.

OR

(a) State Newton’s second law of motion. Use this law to find a method to measure
force acting of on an object.

(b) From arifle of mass 4kg a bullet of mass 50kg is fired horizontally with an initial
velocity of 40 ms ™!, Calculate the initial recoil velocity of the rifle.
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Draw a neat diagram of a plant cell and label the following parts :
(i  Cell Wall.

(i) Nucleus.

(iii) Vacuole.

(iv) Golgi apparatus.

Name the energy currency of the cell. Which cell organelle releases this
currency ?

OR
What are lysosomes ? Why are they called “suicide bags of a cell” ?

What happens to the dry raisins when we put them in plain water for some
time ? State the reason for whatever is observed. What would happen if these
raisins are not placed in concentrated salt solution ?

Compare in tabular form properties of Solids, Liquids and Gases with respect to :
i)  Shape

ii)  Volume

iii) Compressibility

i
iv) Diffusion

(
(
(
(
(

v)  Fluidity or Rigidity
OR

What is meant by evaporation of a liquid ? Water kept in an earthen pot become
cool during summer. Why ?

With the help of a labelled diagram describe in brief an activity to show sublimation
of ammonium chloride.

SECTION - B

Choose the most appropriate option out of the four choices (A), (B), (C), (D) provided
toyou:

An example of suspended particles in a mixture is :
(A) Soap in water (B) Milk in water
(C) Alcohol in water (D) Sawdust in water

The colloidal solution is where both the dispersed phase and the dispersion medium
are liquid, is :

(A) milk churned with water (B) Butter

(C) Shaving cream (D) Starch solution in water
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28.

For the separation of ammonium chloride from a mixture, the experimental set up is
shown in figure :

C

How do you separate a mixture of sulphur, iron filings and salt ?
Use magnet, dissolve in water, filter and crystallize.
Use magnet, filter, decant and crystallize.
Dissolve in water, filter, crystallize, decant.
Decant, crystallize, filter and dissolve in water.

In which of the following sediment will not be observed on standing for some time ?
(A) Chalk powder and water

(B) Albumin and water

(C) Soil and water

(D) Fine sand and water

Which of the following will turn blue black when iodine solution is poured over it ?
(A) sugar (B) butter

(C) potato extract (D) boiled egg white

A student set up an apparatus for the determination of boiling point of a sample of
water supplied to him in his laboratory. He recorded the boiling point as 102°C.
Assuming that the thermometer is accurate, the error in the determined value of boiling
point is due to :

(A) the water may be containing large of amount of dissolved air.

(B) the water may not be distilled.

(C) the bulb of the thermometer is not kept above the water surface.

(D) the bulb of the thermometer is touching the bottom of the vessel containing water.
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33. Four students A, B, C and D carried out the test for the adulteration of metanil yellow
in arhar dal and recorded their observations as given below. The procedure followed
correctly is that of student. The procedure followed :

Student Procedure Observation Inference
(A) 5g dal + 5g metanil Dal turns yellow Metanil yellow

yellow present

(B) 5g dal + 5m/ water + | Solution turns pink / | Metanil yellow
2 drops of HC1 magenta present

©) 5g dal + 5m/ water + Water turns yellow Metanil yellow
pinch of metanil present
yellow

5g dal + 5m/ water + | Water turns yellow Metanil yellow
2 drops of HC1 and then pink absent

(A) A (B) B © C (D) D

Human cheek cells stained in methylene blue and mounted in glycerine were observed
with the help of a compound microscope. The components of the cell which would be
seen are :

(A) Cell wall, cytoplasm, nucleus
(B) Plasma membrane, cytoplasm, nucleus

(C) Plasma membrane, cytoplasm, nucleus, mitochondria

)
(D) Cell wall, plasma membrane, cytoplasm, nucleus

Four students A, B, C and D observed parenchyma tissue and drew the following
diagrams.
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100 m! of a saturated copper sulphate solution was taken in a beaker. A small amount
of iron filings was added to the beaker and left undisturbed overnight. The mixture
was then filtered to obtain the residue. The colour of the residue was found to be :

(A) greenish blue (B) faint green
(C) grey (D) reddish brown

Striated muscle fibre can be identified by :
(A) nuclei lying towards the periphery
(B) star like structure
(C

(D

) cells with tapering ends
) centered nuclei
Mixture of ammonium chloride and salt can be separated by :

(A) dissolving in water and evaporation

B) moving a magnet through the mixture

(
(C
(

) heating the solid mixture in a china dish covered with inverted funnel
D) dissolving the mixture in carbon disulphide

The safest method to test the presence of hydrogen gas evolved in a reaction is shown
in figure.
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40. The following diagram gives the structure of a cell. Identify respectively the part labelled 1
as A, B and C.

Axon, Dendrite, Cytoplasm
Dendrites, Axon, Cytoplasm
Axon, Nucleus, Cytoplasm
Nucleus, Axon, Cytoplasm

The gas evolved when zinc reacts with dilute sulphuric acid is :
(A) colourless, odourless, combustible
B) colourless, foul smelling, combustible

(
(C) colourless, pungent smelling, burns with a pop sound
(D)

D) brown coloured, pungent smelling, does not burn

-00o0-
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